3\ W BBT'AGCT‘RSC@'@
7201 Tvb HSKA®-AGCT-RSCO-©

ANGLE JET (Angle Head Holder)

(09)
_|
%
a
=
n

it “o—3 b1y b BHEICEKY
AEV RSN Z—AN—9—F2 b
ZEEXFEALIGTIEE.

4§ B FEATURES

AEYZ FIWVANV—ICTRENIS

J—Z b1y bEIFEBEH LI EICEKY
INETAAEEDTEAEY KILDSDIT—F 2 D
TEADHIEZREEIC U E L

Perfectly suitable for spindle through coolant
"Coolant unit"has made it possible to deliver coolant internally
starting from the spindle to the point of cutting tool which was
impossible before.

SV LERRE

FoINITy MERVIVINIEITELS Y.
IVFINGERLZLEMITHEERELET,

Angle-Jet can make full use of it's performance not only in drilling
but in various types of machining such as tapping and milling.

BX(THE Specifications c )
& = B & #: 4,000min Max.revolution : 4,000min
7 —5 > MNE: MAX2.0Mpa Coolant pressure : MAX2.0Mpa
ES A 11 Gearraito : 1:1
HBEENLY 58N m Allowable transmittal torque : 5.8N + m
GHALY b C'R1O CR16.CR20 Colletsystems: CR10, CR16. CR20
= f . : 5 Run-out : 4xD % 0.02mm 8 '
*3&6011 E{Eﬁ% +4xD% 0.02mm Universal position of 360° \
CJ ~ \ 1 : 4 /
Z"]Il\7 I— /Z Mashining Conditions
BBT40-AGCT-RSC16-190AJ BBT40-AGCT-RSC16-190AJ
J—J#E : A5052 J—J#& : S50C
FE o8 HAMNA AN HE p10NAA2HIIT> NI
[El#Ex$k : 2700min-! [El#x%K : 640min !
YIHIERE : 68m/min e YIEIERE © 20m/min e
iXV) 1 405mm/min %) 60mm/min J

Xt 2—Z)—IT MAFTAI—INT
o —— .
S
25 = N 25 I

10

93




»»»BTyu-x

L K
= N Interference range
J—=FhHIN— G G “
Coolant cover — THREER
] |
T 1 - ’ : |
2 / g
© kel {D | /
K‘ & N\ \ 7 "’ .g
o—1 T 1 ® \ | RN »
I AT
HH R ?\?}k\(/ =
BBT40.HSKAB3:L'vF65 — -~ & m
BBT50,HSKA100:t*»F110(80) {]D_
- ¢d
B o E
A | M
BBT vy
MODEL CODE od E L K M S G Q Q@ F F COLLET N/W(kg)
BET40 | “AGCT-RSC10-190AJ 240622 29~10 | 30 | . o 26 g, 58 67 475|137 | 123 | CROH10| 6.0
' -AGCT-RSC16-190AJ | 240624| 55~16 | 42 285 60 | ,05 70 505 142 128 CROH16| 6.2
BET50 “AGCT-RSC10-210AJ 270662 55~10 | 30 010 .26 | 75 |58 ~| 67 |475|137 | 123 | CROH10| 104
. -AGCT-RSC20-210AJ 270664 7.5~20 @ 50 37 72 70 505 | 155 | 140 | CROH20 | 11.0
HSK v
MODEL CODE od E L K M S G Q Q@ F F COLLET N/W(kg)
Hkass | AGCT-RSC10-200A | 821272 29~10 | 30 |, | 26 | g | 58 67 475 137 | 123 | CROH10| 5.8
' -AGCT-RSC16-200AJ | 321274| 55~16 | 42 285 60 | 405 | 70 (505 142 | 128 | CROH16| 6.0
HSKA100 “AGCT-RSC10-220AJ 351072 55~10 | 30 000 |26 | 75 | 58 ~ | 67 475 137 | 123 | CROH10| 9.4
| -AGCT-RSC20-220AJ  351074| 7.5~20 | 50 37 72 70 |50.5 | 155 | 140 | CROH20 | 10.0

A EEERIC T BN EMOEES EIEHE T REEE1:1TY,

2MABROEVENTA TH—EOBE. RONEFEIIERICRETEET.

B AEVRAN—FBRDHSERIEGMP N Z1 TTERW T REA,
42 B8—AN—IEHEEA T (AGR) S TEVET, ERTERQFPZNEIQ FOBREBRIET,
5.y MEHAL Y FRABLTOWET S ILY MIFBLTHEVEEA.
6.2 ERAIFZ8(BBT40,HSKAB3).6(BBT50,HSKA100) B Mt DIZETY P ORI EHRIELFT.
7 HERAOBFCIIMUBRD 7OV IDPBETT RRELT I,
.M. HIEICKY BB T ERBEDSHRBRVBEDHIUET.
OMIERDHE> DS DYIHIROMELRIEBEB(EY F65:PT1/16,EY F110:PT1/8)ICT—F > hAR—AZEBIZETRBRICKRYET,
NOTE : 1.Rotation direction of cutting tool is reversed; speed ratio is 1:1

2.Angle of position pin, drive key groove and addendum direction can be set freely.
3.Angle-Jet can be used by thru-the tool coolant only.No Dry cutting!

4.Non-thru-the tool coolant type (AG model) is also available.Q' and F' shown in above dimension chart

correnspond to AG model.

5.Wrench to clamp nut is included, but collet is not include.

6.Set length of A is 8mm(for BBT40 & HSKA63), nad 6mm(for BBT50 & HSKA100) is standard of SHOWA but

other length.

7.Installation of Angle-Jet requires a positioning block.

8.Deeping on Machine type, ATC(Aoutmatic Tool Changer) may not be used.
9.Supply of coolant through positioning pin requires connecting coolant hose with B
posititon(65mm:PT1/16,110mm:PT1/8)(this only is AG model).

72 tH U ACCESSORIES

aLvk
& {5 aLyhRAT Ltz e
AGCT-RSC10  CROH10-** $2.9~¢10
AGCT-RSC16 ~ CROH16-** $5.5~¢16
AGCT-RSC20  CROH20-** $7.5~020
Fvb
& {5 FyhgLT
AGCT-RSC10 RSN10ONB
AGCT-RSC16 RSN16NB
AGCT-RSC20 RSN20NB

L

7 9EYU ACCESSORIES

.- ©P56 F+yILUF CHUCKWRENCH
-

72 tYY ACCESSORIES

!’! ©P88 Fvh NuT

!._ ©P.59 OLvb COLLETS

94




solles 1 g

59

dLybFryIR7IEHY

ACCESSORIES for COLLET CHUCK

X

7Yy

CRaIL v bk

CR COLLET

(A)

®D

¢d

j:i"

FT—NBE (16° )
Taper
aLo g GRape IEIAXum) BUNOUT
BIEER(AA) 1 3
BETHEERILY MER Fyh B = |mA) 2 5
o > DRBIDKBER HAEL i % 5B $®(STD) 5 15
BOTVWETOTILYMZE ;
BRI T BRI BB TR E T, — ——
Incling =<2 &R)I,
: IMERVILL IRV
Easy collet setting o 1BiF% &/ R ﬁg ﬁjq %%J = &=EI\— SFATE
® A half of ID of the ring is enlarged. R HBRENY L.
Collet can be mounted easily by ALy k Tt EET 8 (T EEER)
inclining it. Collet o R BRI Ry T
i Ml AEE TR (7 — U EER)
CHUCK RSCO7 RSC10 RSC13 RSC16 RSC20
COLLET CODE CRO7-d GRADE CR10-d GRADE CR13-d GRADE CR16-d GRADE CR20-d GRADE
{BHREE 1R G 1R EG TR EE B ki ol
¢d RANGE | ¥ RaNGE | ¥ RaNGE | ¥ RaNGE | ¥ RANGE
1.0 0.5~1.0 1.0 0.5~1.0 1.0 0.5~1.0 1.5 1.0~1.5 2.0 1.5~2.0
15 1.0~1.5 1.5 1.0~1.5 1.5 1.0~1.5 2.0 1.5~2.0 25 2.0~25
2.0 1.5~2.0 2.0 1.5~2.0 2.0 1.5~2.0 25 2.0~25 3.0 25~3.0
25 2.0~25 25 2.0~25 25 2.0~25 3.0 25~30 4.0 3.0~4.0
3.0 2.5~3.0 3.0 25~3.0 3.0 25~3.0 4.0 3.0~4.0 5.0 4.0~5.0
35 3.0~35 4.0 3.0~4.0 4.0 3.0~4.0 5.0 4.0~5.0 6.0 5.0~6.0
4.0 3.5~4.0 5.0 4.0~5.0 5.0 4.0~5.0 6.0 5.0~6.0 7.0 6.0~7.0
4.5 4.0~4.5 6.0 5.0~6.0 6.0 5.0~6.0 7.0 6.0~7.0 8.0 7.0~8.0
5.0 4.5~5.0 7.0 6.0~7.0 7.0 6.0~7.0 8.0 7.0~8.0 9.0 8.0~9.0
¢d 515 5.0~5.5 8.0 7.0~8.0 8.0 7.0~8.0 9.0 8.0~9.0 10.0 9.0~10.0
6.0 5.5~6.0 9.0 8.0~9.0 9.0 8.0~9.0 10.0 9.0~10.0 11.0 10.0~11.0
6.5 6.0~6.5 10.0 9.0~10.0 10.0 9.0~10.0 11.0 10.0~11.0 | 120 11.0~12.0
7.0 6.5~7.0 11.0 10.0~11.0 | 120 11.0~120 | 13.0 12.0~13.0
12.0 11.0~12.0 13.0 12.0~13.0 14.0 13.0~14.0
13.0 12.0~13.0 14.0 13.0~14.0 15.0 14.0~15.0
15.0 14.0~150 | 16.0 15.0~16.0
16.0 156.0~16.0 | 17.0 16.0~17.0
18.0 17.0~18.0
19.0 18.0~19.0
20.0 19.0~20.0
¢D 11 16 20 25 32
L 18 27 31 35 40
® 0 ®
| CRO7 |- 1.5 | AA |
| @ abybh&AT  Collettype
@ od od
 @®%#k  Gade




»»»BTou—x

JALybFvyIRA7OEYV ACCESSORIES for COLLET CHUCK

X ALybFvyy D ovgFevo) BTV RSN ®-(1vPe)

7YY NUT FOR COLLET CHUCK

(]
! 1
(]
7 (7]
_ O =
T m
@D
Y I’V'
CODE M @D H CHUCK
BT, STH for BT, ST RSNO7NB(Ni) | 30891 M16x1.0] 24 11.5 | RSCO7
3 1)

RSN10ONB(Ni)| 30892 M21x1.0, 30 | 165 | RSC10
RSN13NB(Ni) | 30893 M26x1.0 36 | 175 | RSC13
RSN16NB(Ni) | 30894 M32x1.0, 42 | 175 | RSC16
RSN20NB(Ni) ]30895 M40x1.0, 50 |17.5 | RSC20

rd RBRY@uyrFryom)

Liche) ADJUST SCREW (For COLLET CHUCK)
( FIG.2 J
@ f £ @ =ory
‘K‘ | K

MODEL FIG M L D1 D2 K B HOLDER

M6X20L-CTW sx1)| 1 | M6X1.0 2045 3 | 3 | — RSCO7

RAS10-25-2.5:12) M10x1.5 75 o5 5.5/ RSC10

- ' RAS13-25-2.5:12) 2 M12x1.5 25& | 7|72/ RSC13
RAS16-25-5 x2) M18x1.5 13.5 RSC16

{ FiG.1 J M

¢D2

!

(1
&

-

4 —
i

RAS20-25-5 :x2) M24x1.5 17. 595 RSC20

CE1) @3RFBORUIVIE, & —SVRRICADATS R REHUABALLCTRATER B A,
CTWIF2E—ZAFRTIFTE N EE Ao

(E2) p2RBORUIVIE, & —S5VRRICADATS R, REHUABALLCTRATER B A,

FrwIUF @AuvvbFryvsma)

CHUCK WRENCH for COLLET CHUCK

| CODE __ CHUCK |
FP25 35844 | RSCO7
FP30 35845 RSC10
FP35 35846  RSC13
FP42 35847 | RSC16
FP50 35848 | RSC20
56

] —— B




RS4IEEZAEY RIVA7Z 7€YY

> BTou—x

ACCESSORIES for TRACTION DRIVE SPEED ACCELERATOR

NSOYavRSATIEEAEVRIVAF YR

NUT FOR TAP HOLDER FOR SYNCHRONIZED MACHINE & TRACTION DRIVE SPEED ACCELERATOR RS NN B
T )
ﬂT CODE M #C1 H TDU No.
s = RSN1ONB | 30898 & 21x1.0 = 30 | 155 (TDU1T)
= B R RSN20ONB | 30899 | 40x1.0 | 50 | 175 (TDU40)

721 YU ACCESSORIES

721t YU ACCESSORIES

.- ©P.59 OLvb COLLETS
==

.- ©P56 F+vILUF CHUCKWRENCH
-

] ——

BT series

88




